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Question
wa

Frfeafaa 4 for wrea 3 star st aviren i € 7

Which of the following words has its letters in an alphabetical order ?

(A) Adrops (B) Envelops (C) Bloaps (D) Collops
aprq=p’+q’ Mp<q=p’ - A(1>2)<3=
Ifp >q=pz+q3 andp<q=p37qz‘ then(1>2)<3=
(A) 480 (B) 840 (©) 600 (D) 720

FrAferfiae s i AR i T 3 36 A S e T w1 I At
RK59#B2%*E?ASLSI4SVTIC6N@H 13D

it forer srat €, fort & et ik vt sl m A o s 7

Examine the following sequence closely and respond to the question that follows.
RKS9#B2%*E?ASLSI4SVTIC6N@HI3D

How many letters are there, cach of which is immediately preceded and immediately followed by a
symbol ?

® 1 ® 3 © 0 D) 2

TS S H IET 0 HeITA B (S R SeTegH He #

(A) FH (B) fawedd (€) =faEia (D) =@d
‘Curtains are related to fabric in the same way as blinds are related to

(A) Covers (B) Lifters (C) Cords (D) Slas
AT A AT ¢, I A A A TR

(A) aE (B) " (©) g (D) WEGHTH
Soap is related to Clean in the same way as Perfume is related to :

(A) Freshness (B) Smell (C) Smart (D) Neat

fow e el 1 2 g, A <2 g i we S s w2

Given the pattern in the provided combinations, how would you express the combination represented
by 7 ?

AZ3B, CY6D, EXF, ?
(A) 1VIS) (B) NZ210

(€) GWI2H (D) KXI8L

A 15 wiex o 1 S e &, A pga @ w10 e Fen 2, fi 3 A g @ o 1s e
ST & | 78 qe fag & Faam g 2

(A) 107 @) 187

(© 157 D) 207==

A person walks 15 meters east, then turns lefi and walks 10 meters, then turns left again and walks
15 meters. How far is he from the starting point ?
(A) 10 meters

(©) 15 meters

(B) 18 meters

(D) 20 meters

A T Ty &t i A e o 270 foft 2 1ew € A o o e R A e wr w €0

) (B) =fm (©) i (D) weTlEm

Which direction are you facing now, if you turn 270 degrees clockwise from facing west at the beginning 7
(A) East (B) South (€) West (D) North-West

ot w1 afgu i e & sy & awt fawe & = Al

FT] g oaw SAm e & |

FYT2: A U FHATAR |

P . 2 U e e et |

ST e # e A e e e §

(A Foret Fread o e e A (B) =amr T e Hfam s aad e
() T e ffam wT A e @ (D) FTaT T fo e e
Read the statements and select the correct alternative regarding the conclusion.

Statement I :  Tray plays table tennis.

Statement 2 Table tennis is a difficult game.
Tray plays a difficult game.

From the above statements, we can conclude that :
(A) No conclusion can be reached

(C) The conclusion stated is definitely false

Conelusion :

(B) The conclusion stated is definitely true
(D) The conclusion stated is probably false

#TE H TR WEATE (A, B) 71 FIf 3 B+ A F1 9 31 s |
Find the missing numbers (A, B) in the series and find the value of B+ A.
25,36,49, A, 81, B, 121.

(A) 164 (B) 125 € 152 (D) 146

AT T et 1 e g, T+ gRT T e A e )

Given the pattern in the provided numbers, how would you express the number represented

by»?
1,1,9,27,25,125,7 343

(A) 34 (B) 37 © 22 (D) 49

Fepeaferfia -t STt S & e

(A) = (B) e © == (D) Formr
Which of the following shapes is different from the rest ?

(A) Square (B) Sphere (©) Circle (D) Triangle

s Wit o S ST o 5 e F e, e i a1 gl 32 o 4 R 1 ke v v e &
FHE 7

) = (B) T

©) g (D) @&

Pointing at a woman, Nirmala said, “She is the daughter of the only son of the mother of my sister.” How
is Nirmala related to the woman ?

(A) Mother
(C) Paternal Aunt

(B) Cousin
(D) Sister
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JANERT Y.
frerg e m art o s firfera T 8 0
(A) 16 (B) 22 ©) 20 D) 31

Examine the provided diagram and respond to the following question.

8 O —> Employed people

T 136 D — Backward people
17\ 4
A — Educated people

How many individuals considered backward are nef educated ?
(A) 16 (B) 22 ©) 20 (D) 31
A ST AE A
‘What is the next letter ?
P:Q::TF:___
(A) U B) P ) T D) R

af s et 7 s e e o 150 Pt ot R B A vm o P R A i B
@3y

(A) FEafEm (B) I

(©) =forafem (D) g

If you start facing South-West and turn 180 degrees to your right, what direction are you facing now ?
(A) North-West (B) North-East

(C) South-West (D) South-East

140 ferenfia & e d wrn a7 60 foramef sffea i G v @ 2, 70 frerdf sER W de we C
e 2, 7o 75 T sz i e i # | Sl 30 SRR i seesh AN we v g,

18 71 =ffiar 7o S S A we T E, 42 T fifdr i i R 1w & e s E, e s wad

S o e THE % | 39 S o ST 0 3 BT 1 AT SO S sheet ATSeSi el Werd € |

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,

and 75 students like to play outdoor games. Additionally, 30 students like to play both indoor and outdoor

games, 18 like both video games and outdoor games, 42 play both video games and indoor games, and

8 like all types of games. Use the Venn diagram to find the students who play only outdoor games.

(A) 64 (B) 32 (©) 35 (D) 57

Fmferfn o1 = o whe & o Awitea srafiat s fafier st @ wien sdiot @ T st A
(iR et 5 a) w1 o s §

it areaeff = ssso ot Ieftof st aTer areeff = 5700

D
s

HEA S i P Il g et it B S au e TR & A sreafda i e der wa
AT ?
(A) 399 ®) 440 (© 300 (D) 400

The following pie charts represent the distribution of candidates who were enrolled for an exam and the
candidates (out of those enrolled) who passed the exam in different institutes :
CANDIDATES ENROLLED = 8550 CANDIDATES WHO PASSED THE EXAM = 5700

The difference between the total number of candidates who passed from institutes S and P combined and
the total number of candidates enrolled from institutes T and R combined is :

(A) 399 (B) 440 () 300 (D) 400

o ffeR 2 T &, aft ‘SCRABBLE' #1 *19318122125' % &9 # gzag fan s 2, d vt wwr & C
*STUNNED" 1 it vt sz fovem s 7

Ina certain coded language, if ‘SCRABBLE” is coded as <19318122125”, how will ‘STUNNED” be coded

in that language ?

(A) 192020141545 (B) 192022141454 (C) 192021141454 (D) 192021141545

S AT F | C
Find the dissimilar numbers.
(A) 4,9 (B) 49,81 ©) 8,27 (D) 16,25
Forrferfian s 3 merer s i wEw i | A
Identify the incorrect number in the following series.

4,7,13,21,34
(Aa) 21 (®) 34 © 7 () 13

af s T s i e () § S S g e T e (<) WFed § 5 v 9 C
e () 1 FIEAT 2, A TR0 S (-G ST a2

(A) T () @) frmamis (i)
(C) e (Fwmi) (D) et (feriF)

I you have a regular icosahedron and you slice it along a plane that intersects six of its faces, what is the
shape of the resulting cross-section

(&) Rectangle (B) Trapezoid

(C) Hexagon (D) Pentagon

S 1 I SR F 0 e 3 F7, T A 5 A 9 7w At s | e v C
T e

(A) =& ®) ¥ (© =

(D) &
Pointing towards Aneesh, a woman said, “His mother is the only daughter of my mother.” How is the
woman related to Aneesh ?
(A) Grandmother  (B) Daughter (C) Mother (D) Sister
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ST (1, 2, 3, 4) S-S0 e YA & T, e, S 3w | ozt T de g e g A C --Select-- i
e e 8 7 e s e o e T | o S g b e st e e 18 fory [ Choose File | No file chosen

wE TR .

s [Submit Objecton |
(A) 1-Fm,2 -0, 3 - 4 - 8 (B) 1-%, 2%, 3 -, 4- T4

(C) 1,2 e, 3 T, 4 - =i (D) 1=, 2 e, 3 @, 4 - T

Four people (1,2, 3, 4) each pick a different fruit — apple, banana, cherry and date. The person who picked

the apple is next to the person whe picked the banana and not next 10 the person who picked the date. The

person who picked the cherry s next to the person who picked the date

The correct combination is :

(A) 1-Banana,2—Cherry,3—Date,4—Apple  (B) |- Banana, 2 — Apple, 3 —Date, 4 — Cherry
(C) 1- Apple, 2—Banana, 3 — Date, 4 — Cherry (D) 1-Cherry, 2— Banana, 3 - Date, 4 - Apple
e s o et ST (x) # fow 0zt & e s e e E A --Select-- Choose File | No file chosen

Find out which of the figures can be formed from the picces given in the first figure (X).
X

B - B K

|

s fifeien 1 9w e 31 45 fel 3 101 T 3 g weer () ER0 i i ST & | afo S D --Select-- Choose File | No file chosen
(FHTO-ETR) AR ?
(A) T (B) s (C)y TEe (D) Frw

|

A eylinder s intersected by a plane inclined at an angle of 45 degrees to its axis. What is the shape of the
resulting cross-section ?
(A) Circle (B) Hyperbola (C) Parabola (D) Ellipse

afe CAT #1 %12 DBU 2, @1 DOG #1 5 71 8 2 B --Select-- Choose File | No file chosen

If the code for CAT is DBU, what is the code for DOG 7
(A) EOF (B) EPH (C) DPF (D) EPF

wrgE g i | c --Select-- No file chosen
S E 2

(A) @ (B) i © (D) fire 4
‘Complete the analogy.

Glove : Hand : : Sock : 7

(A) Shoe (B) Arm (C) Foot (D) Head

wgE R C --Select-- No file chosen
Sieffoar-ardt : st e ;. M ?

(A) @msfEE (B) T e (€) wg=t (D) W/ ks
Complete the analogy.

Astronaut : Spacecraft : : Diver ; ?

|

|

|

(A) Bicycle (B) Airplane (C) Submarine (D) Car
. T F T WAL A, B, €, D, E 3 F i, 3 farfeq 13 #1 D o e 2 i Ewnfore | B, E#T et D --Select-- Choose File | No file chosen
RTE RN # | CrRTAE AR A G AT Y| BT B, E R R im0

(A) Tm (B) (C) =& (D) w .

|

In a family of six members, A, B, C, D, E and F, there are two married couples. D is a teacher and the
father of E. F is the grandmother of E and a housewife. C is a lawyer and married to A. B is not a male.
How is Brelated to E 7

(A) Father (B) Aunt (C) Sister (D) Mother

1t AT AT A AT T AT 78 €, T g e A e e D --Select-- Choose File | No file chosen
If the sum of three consecutive even numbers is 78, what is the second largest number ?

(A) 30 (B) 28 © 24 D) 26 .

|

W % SEW, S 0, 1,2, 3, 4 FFAT: A, B, C, D, E g @1 | [(B+ E) - (D + A)] AT D --Select-- Choose File | No file chosen

s |

According to the code, digits 0, 1, 2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of .
e [Submit Objection |
() -2 ®) 3 © 1 ®) 2

T H ST HE e 7 D --Select-- Choose File | No file chosen

‘What will be the next number in the series ?
3,6, 18,72, 360, ... ke
(A) 1260 (B) 1820 (C) 2180 (D) 2160

|

Ao 7 T Wi e i, T XYmoo g B ~~Select=- Choose File | No file chosen

Find the mirror image of the figure, if the mirror is placed at XY
X

|

Y
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vt # Breget it s ama it |
Find the number of triangles in the figure.

(A) 16 ®) 8 © 12 ) 9

Foiferfiam o & e itz S, ST ST (o) o e e ) a2

Which of the following diagrany/set indicates the relation between women, mothers and parents ?

) @
© o (0D

e o ferr & e oA (rgen) < v e i

Find out the number of the cubes that are arranged in the figure given :

(A) 16 B) 17 © 24 D) 18
ﬁwaﬁgﬁ\u

Choose the odd one out

(A) FG (B) QR (€) AZ (D) KL

o i et o 3 e for 5% oft 0 e S T 1,600 13 7 % 9 w9 T W T o
(e = iy s ) g A

The simple interest on a certain sum of money for two years at 5% is T 1.600. Find the compound interest
at the same rate after 3 years, interest compounded annually

(&) T2522 (®) 2355 (©) 2520 (D) T2,555

12-02-2022 & 11-02-2023 T 15% 51 % 1 3T &% 73,000 T HURI 2 2
The simple interest on ¥ 73,000 at the rate of 15% per annum from 12-02-2022 to 11-02-2023 is :
(A) 10,950 (B) 714,750 (€) 12,050 (D) T13450

=475 s # 15% g2 o Frow gt w e ge 2
What is the discount on a pair of shoes marked at% 475 and discounted at 15% ?
(A) T2 (B) %7525 (©) =70 (D) T71.25

T T U ] F SR e T 10% i gz 20T & WA gz At e W 8% 7 T e & 1At
Ve ol 7 e e F E7 8 2 34,020 F7 P 1 2, 1 o g e 2 2

A shopkeeper allows a discount of 10% on the marked price of an item but charges a sales tax of §% on
the discounted price. IF the customer pays ¥ 34,020 as the price including the sales tax, then what is the
marked price 7

(A) 35000 (B) 38,000 (€) 34,000 (D) 39,000

xS (5 0) 9 s 8,7 e L s

Ifthe average of x and % (x %0} is m, then the average of x2 and

x2
(A) 1-2m (B) 2m?+1 ©) 1-3m? (D) 2m?—1

af 9 AT T w1 it 132 2, d et o st st i s g i |
If the average of 9 consecutive even numbers is 132, find the difference between the first and the last
numbers.

@) 15 (B) 18 © 19 ) 16

= 3 e P e  25% 1 3 F vfnm, v S E 1,200 8 6 fm s aee wtE 9w e | =aEe
=5 wfer o wrdforen e e 2

As a result of 25% hike in the price of rice per kg, a person is unable to purchase 6 kg more rice for
1,200, What was the original price of rice per kg ?

(A) 740 B) 760 (©) T30 D) 750

0.03, 0.5,0.25, 1.25 1 Tew ST (HCF) 1 Fifm |
Find the HCF of 003, 0.5,0.25, 1.25.
(A) 05 (B) 025 (€) 0.05 (D) 125

T BT HE 14 e o 4, 6, 7, § SR 0 & frrfre s o e Reorfa  Srower 3 At |
Find the smallest number which when divided by 4, 6, 7, 8 and 9 leaves the remainder 3 in cach case.
(A) 504 (B) 510 (©) 507 (D) 501

af 30 et =1 ST e 40 et o e e o w2, et e = e
Ifthe cost price of 30 tables is equal o the selling price of 40 tables, then what is the loss percentage 7
(A) 30% (B) 375% (©) 26% D) 25%
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T et ke e W T 10 4 7T & o st 4 sifir dat 7 109 5 Wt 1 @ el # 1 5w 7w Wl
FIT20F 9FTIH s=ar & | FEH @il ar ey o w@wd 2

(A) mnﬁmlg% (B) = g 12%

© Elﬁaﬁmaig% (D) FEfraas

A fruit seller buys some oranges at the rate of 4 for 10 and an equal number more at 5 for  10. Then he
sells the whole lot at the rate of 9 for % 20. What is his loss or gain percentage ?

(A) Gain percent 1129,

S (B) Loss percent 12%

(C) Loss percent 1%% (D) No loss or no gain

fiftaet sfit g A1 st 2 | Fogma iR T35 3 F A ud w E ot e | Fogma A aaa A €1 AR
T S G 2 i e TR AR A T 10,000 %, 3 e 1 A ST i A |

Nikhil and Reetu cam in the ratio 2 = 1. They spend in the ratio 5 : 3 and save in the ratio 4 : 1. Find the
monthly income of each, if the total monthly savings of both Nikhil and Reetu together is % 10,000.

(A) T10,000,5000 (B) T8000,74000  (C) T28000,7 14,000 (D) £2,000,% 1,000

T T T o S ST 9 T 20% W T 2, T S S A € AL | O 59 9 S
ST ST 1 30% T HA 8, T8 I S T 20 3 0w W 7w 2 | St 6 F o s
e T e 2

In an examination, a student who gets 20% of the maximum marks fails by 5 marks. Another student who
scores 30% of the maximum marks, gets 20 marks more than the passing marks. The percentage required
for passing is :

(A) 27% (®) 20% (©) 42% © 2%

A TR F A AT 1w e e 21w Fem g 27 s B frw o femnom ww S
T T T S 1 I |

Two types of rice rates are T 11/kg and ¥ 21/kg. Find the ratio of the two types of rice to obtain a mixture.
of rate T 17/kg

@ 1:1 (B) 2:3 (© 3:1 @) 2:1

& remfsat s 59 farae s 32 fryde i are & wae R § we § o oot & o awdt
e, et i e Al T 4 o = A 16 s H A R 2 1§ & e el et
T g i |

(A) 1207 (B) 1237 (©) 1707, (D) 1247

Two trains travel in the same direction at 59 km/hr and 32 knvhr and the faster train passes a man in the
slower train in 16 seconds. Find the length of the faster train,

(A) 120m ®) 123m (€) 170m @) 124m

67wt el 7 10 Fs & 33 e ool Gl A1 9R T & 1 S ER 65 T o whew W we o =i w
T T AT W T |

(A) 88T (B) 4.5%%e (C) 6.7 (D) 5.5%F

A 67 meters long train crosses a tunnel of length 33 meters in 10 seconds. Find the time for the train to
cross a man standing on a platform of length 63 meters

(A) 8.8 seconds (B) 4.5 seconds (C) 6.7 seconds (D) 5.5 seconds

T e ¥ P 150 I g e for 200 At #1 e e ) afe s et A e
it s P T, g a6 R g w4 3 o, e P st et e Afer s
29

Indian Railways employed 200 workers to complete a certain work in 150 days. If only one-fourth of the
work had been done in 50 days, then to complete the whole work in time, what is the number of additional
workers to be employed ?

(A) 600 (B) 200 (© 100 (D) 300

12 979 3 1§ A o 0 #1107 wd ¥ 19 7oy A 18 wheand sl w12 R
# 1 af 2 o it 3 At v ar s T R 8, o e T e 8 2

(A) 70T (B) 60T (©) sofm (D) s0fm

12 men and 1§ women can do a work in 10 days. 9 men and 18 women can do the same work in 12 days.
1£2 men and 3 women together do the same work, in how many days will they complete the work ?

(A) 70days (B) 60days (Cy 80days (D) 50days

12.5% 1 70 H O weae feat w d 3 a7

(4) 87 (B) 107 (© 1279% (D) 207
In how much time will an amount be doubled at the rate of 12.5% ?

(A) Byears (B) 10 years (C) 12 years (D) 20 years
3 e T A v G i g oft 0

The Indian National Congress was founded in which year ?

(A) 1885 (B) 1947 (€) 1857 (D) 1905

T 31 TR AT HEE Fel 7 e o

(A) e (Fer) (B) a7 ()

(€) faeedt (D) T (%)

Where was India’s first airport located ?

(A) Calcuta (Kolkata) (B) Bombay (Mumbai)
(C) Delhi (D) Madras (Chennai)

TR & ST 3 T, Faret ¥, GST wiefm F fow s fafie (wfom 7 2 2

(A) F10@mE (B) T50@m@ (C) TS@@ (D) T20¥E
What is the threshold limit for GST registration for businesses in India, for services ?
(A) %10 lakhs (B) %50 lakhs (C) %5 lakhs (D) %20 lakhs

T 3 Top T S ofm S e 5 A S e

(A) s (B) T (€) e (D) =EE
Which of India’s neighbouring country is known as the “Land of Thunder Dragon” ?

(A) Bangladesh (B) Bhutan (C) Nepal (D) Myanmar
TereAferiia # & H-a1 G diea wew 78 8 2

(A) (B) T (C) = (D) T
Which of the following is nof a Social Media Platform ?

(A) Facebook (B)y Google (C) Twitter (D) Instagram

F gl e el S T S, $A S G A g A s S S
T e o e e e s 2 1
(A) Teafeim (B) FefERmr (C) VPN (D) i FRfRT

uses images with malicious files in them, meant o help a hacker steal your account information
or infect your computer,

(A) Smishing (B) Catfishing (C) VPN (D) Image phishing
T AR T e R 7
(A) wEE (B) gamf (C) ST (D) e Rt

What is the capital of Republic of Croatia ?
(A) Amsterdam (B) Dubrovnik (€) Zagreh (D) Mexico City
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TS & TG T W FA1 (3 A 4wyt @ A e

(A) T EAT 1 TSI Pl A A 8 |

(B) % 3= 1 WY Wafddi #f G T2 |

(C) % ST 1 Wt el i S deit & Te H e e & |

(D) & SRt SSHT Bl G T e R gt 1 S T 3§ E e e o Fr T # |
In what ways does information sharing become important in fighting terrorism ?

(A) It strengthens the military’s capabilities.

(B) Itimproves relations with other countries.

(C) Itallows authorities to identify potential threats more quickly.

(D) Itallows terrorist organizations to coordinate attacks more effectively through security agencies.

rET I WA o o e o S e E

(A) TERTETR (B) T

(C) TrmEE (D) Fe=wrt
NOIDA comes under which district of Uttar Pradesh ?

(A) Gautam-Buddha Nagar (B) Mathura

{C) Ghaziabad (D) Bulandshahar

for o e Fr v ST € 7

(A) 93T (B) 15 31T (© 103 (D) 3 ¥R
When is World Post Day celebrated ?

(A) 9™ Qetober (B) 15" Qctober (©) 10™ October (D) 3 October

S 2024 T T8 HITCH FIGE FHE 7

(A) s (B) T fiE (©) FremET (D) F=HET
Who heads the Union Ministry of Home A ffairs as of June 2024 7
(A) Amit Shah (B) Rajnath Singh (€) Nityanand Rai (D) Narendra Modi

et # & form sem =1 swor i (eafem) iR 2

(A) Feft e | e (©) @ (D) L
Which of the following types of pollution is cultural (accelerated) eutrophication ?

(A} Thermal pollution (B) Waterpollution  (C) Noise pollution (D) Soil pollution

1946 ¥ T % A RBIF TSR 9 4 7
(A) 2 geamE (B) wiferaria a0
(C) Teramm gy T (D) Stawzer

Who was the Governor of RBI during the demonetization in 1946 7
(A) D. Subbarao (B) Shaktikanta Das
(C) Chintaman Dwarakanath Deshmukh (D) Urjit Patel

TR HTET BT - MR T o e e frgiel 4w & 2

(A) W (B) WMV (© =l (D) WV
Which part of the Indian Constitution deals with the Directive Principles of State Policy ?
(A) Partill (B) PanV () Partll (D) Part1V

(B) T e Frmer
(€) werdt i (D) ST FeE

The book ‘A Life Misspent’ was written by whom ?
(A) Maithilisharan Gupt

(C) Mahadevi Verma

(B) Suryakant Tripathi “Nirala®
(D) Jawaharlal Nehru

STHE 25 AT =BT T H Z1

(A) T T ISt ST T S

(B) e WehTSI =l WehIOH (ferE)

(C) et arw =i Iufiafa

(D) TR % ST 570 4 F T wH ()
The main reason for the blueness of the sky is

(A) the absorption of blue light due to the air

(B) the scattering of white light

(C) the presence of water vapour

(D) the scattering of sunlight by air molecules

o et 1, o w1 8 Fro & rn, R ar g 4

(A) T (B) e e () e (D) Fombe
Raman Subba Row, who passed away recently, was associated with which sport ?

(A) Hockey (B) Table Tennis (C)y Football (D) Cricket
et AT A i e s i g o 2

(A) = 2002 (B) =T 2004 (C) e 2000 (D) w2004
‘When was the first ever National Agriculture Policy announced ?

(A) March 2002 (B) January 2004 (C) Iuly 2000 (D) March 2004

af St AT e o e o e S W AT ST e T Aea
g g feeanfie fove e |

The United Nations Commission on Human Rights was replaced with the United Nations Human Rights
Council for the enforcement of international human rights law in the year :
(a) 2001 (®) 1998 (©) 2000 (D) 2006

ST 3 SR A7 S A Tee S S E 7

(A) WFF (B Ffa T () @ tmrE (D) fermrr srmm
Who is the first person to run across Africa ?

(A) Russ Cook (B) KencnisaBekele  (C) Dennis Kimetto (D) Sisay Lemma
ad 1985 i 8T Sl wifea e e

(A) 7 (B) wfeen (€) ghedm (D) W=
The year 1985 was declared as the International Year of

(A) Youth (B) Women (C) Blind (D) Children

Sreter faferat ST 1 ARt sran o Te S s i g #7191
TR A E
(A) HOATHR (B) TIIRHS
(© wm oy fafi

research methods allow for in-depth and further probing and questioning of respondents based
on their responses.
(A) Quantitative (B) Qualitative
(C) Action (D) Mixed

C
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(A) ez U frafserr def

(C) Fezs fird i
What is the full form of BRI ?
(A) Belr and Republic Industry
(C) Belrand Resource Initiative
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D --Select--
(B) it g e shifufea
(D) siwe Ug Te ghfimfes

(B) Basic and Road Initiative

(D) Belt and Road Initiative

Choose File | No file chosen
Submit Objection

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Fafime safirat i o w1 g @ S i w8 fs o wm e | B --Select--
(A)y =T (B) o fpfim
() W = (D) =
tries to trick specific individuals into jeopardizing the security of the organization they Submit Objection
work for.
(A) Sneaking (B) Spear phishing
(C) Cyberstalking (D) Spamming
e e < e el T A 2 D |--Select-- |
(A) T (B) Fwm (C) weE=dt (D) e
What is the name of the longest river in Peninsular India 7 Submit Objection
(A) Narmada (B) Krishna (C) Mahanadi (D) Godavari
C --Select--
NHRC #1 7 E7TFT2 7

(A) e g T e, dfear

(B) T g Tsfeaw Fte, $fean

(C) HTeiet B[ TTggd i, S

(D) e G s FHi, e

What is the full form of NHRC ?

(A) Natural Human Rights Commission, India

(B) National Human Righteous Commission, India
(C) National Human Rights Commission, India
(D) National Humanity Rights Commission, India

TETATTT STEATeF00T =1 oo oo 1 & 7
(A) B e A gty
(C)  eatiss waell v

Submit Objection

D --Select--
(B) et =1 frar
(D) TSI BT CO, 31 S

What is the primary cause of ocean acidification ?

(A) Increase in sea-water temperature
(C) Overfishing

(B) Oil spills
(D) Absorption of CO, by sea-water
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e Y AET AT A an srand e e ot e 2 % faems S aar A A --Select--

TR

() i (B) i (C) SR (D) =R

‘The Indian Agricultural Research Institute has demanded legal action against which country for cultivating Submit Objection
basmati varieties protected in India ?

(A) Pakistan (B) Bangladesh (C) Afghanistan (D) Myanmar

- T T AT ST ATt Ferehe o e S o @ 2 D --Select--

(A) =ifsm (B) T (€) werwA (D) WeRTZ

Which Indian state is known for its unique ‘Warli® paintings ?

(A) Odisha (B) Rajasthan

el v Tt s A & forwht swts s v # R e A gi ot 2

(C) Madhya Pradesh (D) Maharashtra

Submit Objection

D --Select--
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Choose File | No file chosen

(A) TRt (B) Arm=r (€) yarms (D) @

“Chikankari” is a traditi idery style that in which city of Uttar Pradesh ? Submit Objection
(A) Varanasi (B) Noida (C) Prayagraj (D) Lucknow

ORI Sl o S o ToTe 197 e Sz & 7 A --Select--

() FFE (B) wEgEA (©) FHET (D) faferrT

Which clement is essential for the production of nuclear energy ? Submit Objection
(A)  Uranium (B) Hydrogen (C) Carbon (D) Silicon

7 TTEe Ser T et 2 A [--Select-- |

(A) e g (B) w0 dafaa

(C) = i (D) ‘Iﬁﬁ.ﬁ:{ Submit Objection

‘Who wrote “The Scarlet Letter” ?
(A) Nathaniel Hawthorne
(C) Washington Irving

el  ATE UEAST H ET H i A AT

(A) sfmvaEem (B) frewwE

Who was chosen as the brand ambassador of GST ?
(A) Amitabh Bachchan (B) Shilpa Shetty

Frreafeafiar & -4 T i S i e e &2 c

(A) TWEET (B)  40e Frerer o

Which among the following lines is a boundary between France and Germany ?

(A) Senger Line (B) 49" Parallel Line

e ST TR (DGFT) o wme & Siaia s & 2

(A) TV TE T A

(B) Terew warer

(C) o daem

(D) T, T S AT e AT

(B) Herman Melville
(D) Mark Twain

A --Select--

(C) wmerE @M (D) a?ﬁm\nzﬁwﬂ

(C) ShahRukhKhan (D) Deepika Padukone

Choose File | No file chosen
Submit Objection

--Select--

(©) fmfeaE (D) FeegaE

(C) Siegfried Line (D) K-W Line

Choose File | No file chosen
Submit Objection

A --Select--

The Directorate General of Foreign Trade (DGFT) comes under which Ministry ?

(A) Ministry of Commerce and Industry
By M ry of External Affairs
(C) Ministry of Finance

(D) Ministry of Mirco, Small & Medium Enterprises

Choose File | No file chosen
Submit Objection

ST 3 ofel ST W St e o o wierer st s & e e gl D --Select--
(A) s (B) =w™ © (D) Tz

Which social media platform has a lled “Streaks™ frequent between

users 7

(A) Facebook

(B) Instagram (©) Twitter

(D) Snapchat
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e e o S e fa ot

(A) wad (B) #E (C) wrefigar (D) T
The capital of the Pallava dynasty was located at

(A) Madurai (B) Mysore (C) Kanchipuram (D) Thanjavur

forefr foman =1€ (FSB) FA#ATE 2

(A) 7% foefr fomm gRfam Far 2 |

(B) 8 3 W=y 21 o et et en e AT |

(C) % e st = e i o fer sy &l w61 Pl e 21

(D) T i i e T T A |

What does the Financial Stability Board (FSB) do ?

(A) It ensures financial stability.

(B) It manages the foreign exchange reserves of its member countries.
(C) It regulates interest rates for central banks worldwide.

(D) It provides financial support to developing countries.

afg aiym = -afre & e e S, AT 3N i R s fe s 0

(4) I (B) Fforafim (C) Fm-afEm (D) =
If West is replaced by South-West, then North will be replaced by :

(A) North-East (B) South-West (C) North-West (D) South

afE 95474 %1 KGFIF ferar s 2, f 82143 F# ferar s 2
1£95474 is written as KGFIF, then how will 82143 be written ?
(A) ICDEF (B) IDCFE (C) JCDFE (D) IDCEF

% EXAMINATION # VCZNRMZGRLM & &7 # 523 e <1t 8, 5 WRITTEN Fit Frer S 2@
s

IFEXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded 7

(A) DIRGGVM (B) DIUGGMV (C) IDGRGMV (D) DIPGGMN

T AT, W FUCH 107 A & 36w R | e e wrE 2

In a class, Sambu is ranked 10 from the top and 36™ from the bottom. How many students are there in
the class ?

(A) 47 (B) 44 ©) 45 D) 8

A, B 3 C 7 s 79 60 Frcitmm 2 | aft A st B 1 st 7w 30 Freimm & T B i C A s
e 70 Fereitam &, 9 B w1 o R 7

(A) 18 e (B) 20 Fremm (C) 17 Fretmm (D) 21 e

The average weight of A, B and C is 60 kg. If the average weight of A and B is 30 kg and that of B and
Ciis 70 kg, then what is the weight of B ?

(A) 18kg (B) 20kg ©) 17kg (D) 21 kg

40 BT 1 U F H, 15 T Bibe G § AR 15 BT 2 der 2, A S o S de w8 | dram A |
1é i e e W e I o e d

In a class of 40 students, 15 students play cricket and 15 students play tennis, and 5 students play both the
games. Then the number of students who play neither of the two games is :

a) 10 (B) 35 © 15 (D) 25

e AR 3 T TS T 25% T T IS | AR T 3 35 F 6 et A T 732 0 o=, 1 S 36%
T T | 5T T o S A

A person sold a horse at a gain of 25%. Had he bought it for 35% less and sold it for ¥ 732 less, he would
have made a profit of 36%. The cost price of the horse was :

(&) 2,000 (B) T1800 (©) 72500 (D) T1500

K, LAusf & sficm, Lfiaea & | N, K 38 8 wafd 0, M A 5T 1 oF K G seu &

(A) WG (B) #F (©) @ (D) Famr

Kis L's wife and M is L's sister. N is the daughter of K, while O is M’s mother. What is the relation of @
wkK?

(A) Fatherinlaw  (B) Mother (C) Mother-indaw (D) Father

3t e & & e (315 F Al

Find the odd one out from the given series :

486, 482, 478, 474, 472, 466, 462

(A) 466 (B) 472 () 478 (D) 474

o 50 e st e 1 § 250 Freieiee A g o Ft & | a1 g F e e o 2

(A) TEE (B) 6% (€ stz (D) 4%

A bus travels a distance of 250 kilometers at a speed of 50 kilometers per hour. How much time will it take
10 complete the journey 7

(A) 7hours (B) 6 hours (C) 5 hours (D) 4hours
et s o sen #a-d &7

What is the missing number in the following sequence ?

3, 18, 90, 360, 1080, 2160, L0

(A) 1080 (B) 0 (©) 2160 (D) 360

Sl H S e T I 11, 39,75, 119, .
Find the next number in the series 11, 39, 75, 119, .
(A) 171 (B) 191 (©) 186l (D) 181

raferfiae sjmrem 3 1o e T i |

Find the incorrect number in the following series.

1,12, 144, 1782, 20736

(A) 1782 (B) 12 (€) 20736 (D) 144

af INSECT %t JOTFDU, HOUSEFLY 1 IPVTFGMZ ¥ &% # sz {3 =it &, af BUTTERFLY &1
o oz o s 2

IFINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERELY will be coded as :

(A) GMGUUCVF  (B) CVUUSGMZF  (C) BVUUGMSG (D) CVUUFSGMZ

Y XFEARSzF AR ARk 25w AL e, v F iR
(A) g (B) afEmafam () st (D) s

Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which direction of Y is

(A) South-East (B) South-West (C) North-West (D) North-East

C
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?ﬁgﬁ}‘lﬁaﬁmwéﬁﬂﬁ‘ oy T =TI % e o S S 2 € 1 ergehl 1 eigeh O e dea
I3

(a) wE ®) = (©) frr D) 7T

Introducing a boy, a girl said, “He is the son of the daughter of the father of my uncle.” How is the girl
related to the boy ?

(A) Brother (B) Mother (C) Father (D) Sister

el § STl §E | F 6,24, 120,720,
Find the next number in the series 6, 24, 120, 720,
(A) 5004 (B) 5040 (C) 5440 (D) 5400

T ra = fare v 3 e @it (s € ) @i 8, S et fwio o dresegEh s wr il
afreTST o fer U e o e A T E

T SIS TS 3 21T HE AT & T 4910 FIS 3 6 e 1\ 0 o, S 20%
T 1 T O 5, ST O 1 et e T O e o st o e e 2

(A) 7550008 (B) 75254 7S

(©) TS8R T (D) T4845 T3

The given pie chart illustrates the various sources of funding (in ¥ erores) that the Public Works
Department (PWD) plans to collect for its Phase Il Projects.

External Assistance
11,486

Annuity E

6000

Market Borrowing
29,952

To support the project with 7 4910 erores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permited to
collect ?

(A) %5500 crores (B) %5254 crores

(C) %5892 crores (D) 4845 crores

(97, 1143 118 7erior w4)

v =1 Ao A AT e R g st s w1 e rafda @ s e e
feefreran 2 1 2, et arfee, e, it o a5t 1 S S & aferd w7 A B e e € froed
et 3 e ¥ g o e & e e  w  g  # fo e g e # s v = et
T T S e e o o e & | g o i s g w0 A s
#, Forers Farae e fore, i 1 v a7 e | wafer g af g g 7 it 2, 1 Faa e a9 s
R | SH E I IO VT W TR E AT A S S aiented B water § s | s sifo wiwdt
T A ST ST A o W SR AT 2 SR T G S A o e i v 2 |

ST T fo 1w T e o &, i

(A)  sitfer wcere oo afafa S 2 |

(B) a3 STl irsfrrar =01 a8 gar |

() FAmF@EImEFTTE

(D) e, e, s sirfe s <o & Fraifea & 1
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